PERAEIIBETY 6P

EAP AL REALIBER

2 481 :rg_%,]:?t,p

AP AZFA AL AR %Y

Shan
pAaN



Al

O 00 O LA W =

[ T N T N T N T N S S s W Sy Sy
AP E O 000NN R O

AR R
CEPEN R E R ESEHEL p 113224423 113.7.5

113 4F 3 A 2 HpsE e F RIS TE A

11344 F 22 Hfe " REEAES - 3PS HEYeE |, (LS —H i
11343 A 20 HiEE R Et SR N5

11343 H 10 H¥EE 113 FFEHE R BRI G4 L
11345 A 5 HYHHE2 B 4515 RER ST T 5 22 R AR S i E E)
113 4E 5 A 24 HiE e R Et SR N

113 4F 6 A 30 HrE s ~OoKE ~ IR ITEZ S E-amms
N = i

1134E 2 A 27 H¥E N BEE- A EE s MR- EEFE
1134 3 A 4 HiLHaRie- S aeara AR

113 53 H 8 HALHRIE-REZI S E I ER T

11343 A 13 HiLHrafie-sRE2 T e 4% 2 LIS EER

113 43 A 16 H¥sR (BB bl - e EImia
1134 3 H 26 H ¥ A 4= (f a2 e EE-TE T O A ZE B

113 4£ 3 H 29 HERR 7 DIY 3R-BE4 w8 E

113 52 4 H 2 HEtE S B i B - 2 0T - T s Rl
113 4F 4 H 12 H ¥ A4 (daE e s - TR 1 M B O B (5
11344 H 18 HYBR BB bldEHg-hEEfEEAzs 2 E

113 5 4 H 30 H¥sE N E#E-HEE A FRER-EEFERE
113 4E 5 B 6 B ZLfA USR Bl RS BT hae L &
11345 B 7 BB S B T -2 1401 - 5 24 LINE A5E
11345 H 13 HiEZ A USR SR BlEf- Al iR
11345 A 16 H¥BR B e PR 5 R R IaE

11345 H 20 H¥BE Z TR USR B RH7 Bl - T e B A 2
113 4 5 H 27 Hi =~ USR Bl flR; BlEff- APP 222

1134 6 H 4 H¥ E B TS -2 FHDE-AR/VR #2653

113 4F 6 A 6 B K2R b O St e A s P - = e i B PR T
1134 6 A 13 H¥BE K2 @5 0 dei A s e -rE Bz N5y

=

)

. 346 A 20 BB E B bR E- S MENGE

113 5 6 H 25 B A\ A ssasie-= N R E R

. 3456 A 27 BRI 0 Sl s AL i - L8R FRIEE T

113457 A 4 B2 R O S E A ml - PRI TR ERE A5 1R



S EREFHANT

113 # & T2 AREHPRAFGET | R 753

bi FEx | PBALIE L PEEE | KERE BT R §
= p g % 2 w3 & (%) FHPH | =
I ~FEEY 113,12 20,000 ~ | £ 4 0=~ 0%
228365 || 30.
sy B
A ~2p&3F [113.12 | 50,000~ RARZBSEE 0%
grmexw |30, iz ()~
AvEaFR (11312 | 36,000 ~ | £ AT ez 100% |+ EHEH 113.5.29
Tt |30 *H 36,000 327
H2xkE - 20,000 = | LINE ¢ * *&%4e# 0%
s | 113.12 () 0=
#42 £ | . 30.
B AR R
- pRE & [ 113.12 | 154,000 =~ | =7 & 10,000 =~ | 65% | & ¥ 5 113.4.11
a\«a\ﬁ . 30. * A& 90,000 ~ Fd3w | 113.5.20
'ﬁ‘ﬁ*ﬁwm
#
Lz~A2214p [ 113.12 | 30,000~ | B2V £ 01 0%
Mg . 30.
&3+ 310, 000 =~ | 136, 000 ~ 44%
113 # & = 42w 4k £ 782381 7 57
e LA PBEHE cARE L RERP Sl g X
P )] Frwd | @R FEPYP
(%)
EF&(3F 113.12. 30. 60,000 =~ | 65,059 | 100% | ¥ A 2 #%&= | 113.5.17 | &4«
4/1000 & = Jow A 30%
) md A
% IF B

_L
- *




£ &#ckap | 113.10.31. | 50,000 = 0=~ | 0%
&
kT 113. 12. 30. 20,000 ~ 0=~ 0%
¥ i 113. 12. 30. 45,964 ~ 0=~ 0%
N A 113.12. 30 24,000 = | 24,000 =~ | 100% | £ &*x>7F |113.4.30
AP
G-k | 113.12.30 | 2,000 = | 1,200 = | 60% | ¥R EER |113.4.11
>4 raa
EARFXRAL | 113.12.30 35, 000 ~ 0~ | 0%
R
ERFLP 113.12. 30 17,000 ~ 0~ | 0%
£ 253,964 ~ | 90,259 ~ | 36%
113 & R FTALPEAR T B4 B 2w s & PHE I 7 577
%P RS PALEE cAAE ML RKPRRF EPR4d 4
2 ¥y FEwE ER FpY | i
(%)
¥R | 113.12.30 | 60,000 =~ | F51 AiE | 100% | semseivar | 113.4.22
AR B4 - p %
BIEE 30, 000 ~
L& 2R & & 113.5.5
30, 000 ~ PRE AR
o
113 # & T ik w i B4 3072 3 {7 73
7 P FERA PRAEFE  CAHE MR KERF EiRdE 4
P 3 B2 mE AR 5P ¥ T
(%)
Fhw | 113.12.30 | 27,723 &~ | 27,723 =~ | 100% | £ ### & |113.5.13
e iF
A 313
#




B 3HEE

#E-

BEL IR

29 122 IR ERRY TLMEHIRBEY | PHLR P B3t
(4= ) Jeipidsh -

PHi2 1113 E R TLASERIRBES  PHEAP o FR EMEFAF R
e o

P
BT L3k (5)
9,800 ~ X ¢ 5:=9, 800 ~
(FAFEaE¥ MRz 20,000 =~ - 7] 10,200 =)
73| 1 BEREIR 2(F)
15,500 = X & f&=15,500 =~
| Lo | &R ER(E)
148,700 =~ x ¢ ;4=148, 700 =~
(5] 15,400 = » & 5] 5,300 =)
b=
BR=

BRI HE R
%d (X2 VBERTAAF2F-AFRETAF 5T (ot
=)




PRz D13 ER TR - RETAE  PELA P B2 E o 8
£ R o

wp
i & | #E £(F 4/1000 & 7542065, 059 = (/& 71 60, 000 ~ >
71, 5,059 <)
g |k % 21,205 ~ (R 20,000 = » 37 1,205 ~)
P 5| % 1 45,964 =
FH| o | R R EBEE AR 4,200 £
@ | ok e 500 =
M EMAZLEE 35000 <

i~ TRRFd iR

M~ AR BT

NS sk
2 P




